Al £ 0l & AHS & Al A

JElg24
KI5 o2yt
J1=2lgl ChE=t)
S - B CRI(SI) - NISAY - BaS 01l bt e Hlm=2
[=FS| 35,581,370 33,493,726 2,087,644
= 587,500
| 2,580,000
& 986,669
CH 1,000,000
i 30,427,201
HE A2} 3,205,912 2,865,083 340,829
& 16,669
i 3,189,243
J1= 93] 769,535 415,253 34,282
T 16,669
o 752,866
JI1= 25 54,371 29,279 25,092
201 LBr249h| 20,871 10,779 10,092
01 At 22l 12,800 4,240 8,560
NIIEQ g AMREE 7Y
100,000 123 1,200
1)J122g HRFEX Al
8,000 x5 603 2,400
DK USXe+8 BEOM HE S
15,0003 *20 2 *43] 1,200
1)0IAM8)| BF0|#H B 2R3 &g
100,000 * 15 23] 3,000
1NEIMB)| 0|3 EIH B3| S
2,500,000 23| 5,000
02 S=2g| 8,071 6,539 1,632
NEZAIESXAIE SIS S22 (ZHSAIY)
5,000,000& *13] 5,000
NREE 23522 200,000& x12& 2,400
N&=I| dxz 55,9002 x1CH*12& 671
202 04| 10,500 10,500
01 =UH0dbI 10,500 10,500
DII1EQ g JRFN =LY
50,0003 x5 *423 10,500
203 R F&IL| 3,000 6,000 A3,000
03 Al F=RIHRFEIH| 3,000 6,000 A3,000
DA OY 2 S =X
3,000,000& 3,000
301 LPENF 10,000 1,000 9,000
14 JIEIE &= 10,000 1,000 9,000
NZYMS2 &0l 22X 201 Al&2
10,000,000& 10,000
303 Z&3 10,000 1,000 9,000
01 Z&t32 10,000 1,000 9,000




SN s
X

Ha: XY

= jlij—g@ol - CEREED
S - BB CRI(S) - NIRAY - BaS 01l bt e HIm =2t
NZENASE &0 2= A2
10,000,000 10,000
DA MIS BN Z E2t 376,000 282,000 4,000
201 LB AH| 61,000 62,000 A1,000
01 AtR2eld] 61,000 62,000 21,000
NEMZS U AT S HE
2,500,000 23] 5,000
NS E w2t 10,000 *1,0005 10,000
NEQUAD AlHE 22t
60,0003 *200 12,000
NAE B0AM HE 20,000 *302+203] 12,000
NH4S Holg A 2IREA 2Y
22,000,000 22,000
207 AL B 206,000 100,000 106,000
01 A E | 206,000 100,000 106,000
N2y JEONY 29Y| 100,000, 000& 100,000
N2ISE7I] A HIE 22,000,000 %12 22,000
DA HAXISE(RE) XIEYor E435F 2ol
oz 82, 2872) 66,000,000 66,000
NeIRAE ALHe 230 SE MOoILt
18,000,000& 18,000
401 Al&BIZ 20| 100,000 90,000 10,000
01 AlEHI 100,000 90,000 10,000
D2 AN D128 L X 9|
100,000,000 100,000
406 J|EHA=0I N 9,000 0 9,000
01 JIEFRF=01 & 9,000 0 9,000
ESEUS L J2UE AES=Y)
9,000,000& *13] 9,000
sSH2eD =229 9,000 9,000 0
201 LBEt2A| 9,000 9,000
01 AR2t2d] 8,500 8,000 500
NSHHE &2t 40,0003 *200% 8,000
NeHse L8 S5 7
500,000& 500
02 B22=2gt| 500 1,000 AB00
NEHHE ELSH| 500,000& 500
AHMEOD | sZSLI|2EILEX 17,600 27,000 A9,400
201 Let2dH| 7,600 7,000 600
01 AtR2teld] 7,600 7,000 600
NUDZ =4 s=S482 ER
15,0002 *30IH *6 & 23| 5,400
NEMADBANO|SA 4oj4g
100,000 & *5 3 x23| 1,000




 RHBIEELIN
I NYHYHAS 25t
=2l J1=9l3l CEREED
S - BB CRI(S) - NIRAY - BaS 01l bt e HIm =2t
IEEESCERNE
100,000& 3 *23] 600
DAIZ M E IR Mol
100,000 *3H *23] 600
303 LAtz 10,000 20,000 10,000
01 Z&=2 10,000 20,000 10,000
12023 M 24-Ardl AU Za=z
10,000,000& 10,000
ARSI =S HZ AL 21,826 21,271 555
101 Q14| 20,261 19,706 555
M IRIMZ2Z2XSEs 20,261 19,706 555
NAFEMIZAF ZARZEIAF Q124 H]
79,8402 2B »282 *70% 3,130
DAL RIZAL S22 X 21248|
79,8402 * 13 282 *70% 1,565
DAFS M AN ZARKIR 22| X e124H]
76,9602 * 1% x282 x70% 1,509
DA ZAL L33 12|
76,960 *2%H x 182 *70% 1,940
DAFE I ZAF ZAFR Q1244
76,9602 *8H x26 2 *70% 11,206
DAIEH AN NERES
1,301,000 *70% 911
201 LBr249h| 1,565 1,565
01 At 22l 1,565 1,565
DAL ZAL E2E 49 HE
71,0003 #1501 *13] 1,065
NAIS XM ZAL AR 224
50,000& 103 500
MBI ZAHEZX) 49,802 46,703 3,09
& 16,669
= 33,133
101 e124d| 28,369 27,270 1,09
= 14,185
- 14,184
M IIRHMZ2Z2XsSEs 28,369 27,270 1,099
AR RE o1d] 80,0003 *3F 15 3,600
& 1,800
= 1,800
NZEARMCIR B2
80,0003 *3% 152! *10% 360
& 180
i 180
1)ZAR Q124H] 77,0003 *23E * 12 21,252
& 10,626
= 10,626




 RHBIEELIN
g NLHI A3t
251: |32l (EH9): & R)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
NYHERY IAH| 77,0002 x5 H 8 3,080
= 1,540
o 1,540
1OIHIZARR Q12| 77,0003 x1H*1 w7
& 39
= 38
201 fet2d| 11,433 11,433 0
= 2,484
= 8,949
01 At2teltl 11,433 11,433 0
DELEL:] 6,000 <828 H 4,968
= 2,484
= 2,484
DAMSIZAF EDA L2t 30,0003 +80 2,400
NDAIZIZAL 228 842 WA
71,0002 * 157K 1,065
NAIEIZALE & EALZS M=
3,000,000& 1= 3,000
207 A-IHE 10,000 8,000 2,000
01 HFESH| 10,000 8,000 2,000
1Ak AFSIZEAL 9
10,000,000 * 13l 10,000
oI AgUSII= 110,000 0 110,000
207 AR 110,000 110,000
01 HFESH| 110,000 110,000
NeIRZAXAUSII2H= & AIH = =
g 80,000,000& 80,000
1)204E XSAZEUEI IS FNHAHE =8
30,000,000 30,000
NSARA2E X 48,936 0 48,936
201 24| 42,936 0 42,936
01 Ar2teltl 30,576 0 30,576
NDNSAIRALRFX 0HAH]
8,000& x1&*1203] 960
NDNSARA A2 =4 SXE
1,068,000 123 12,816
NASARA ARES 7Y
50,0002 * 12 600
[DEFSPNE= R=IPNT= 1,200,000« 1CH* 122 14,400
N@Fxe =2 SloIHA 0l8=
150,000 «1CH* 122 1,800
2 35224l 12,360 0 12,360
NI *FHl 630,000& x 123 *1CH 7,560
NIHAZ2SEX =4 22l L SERS
400,000 * 104 2xx 12 4,800




SHPIEEE
B Tz

=l J1E s

SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
202 OdH| 5,000 5,000
01 =LHOIHI 5,000 5,000
NANSASAGRFE 20
50,0002 * 1 %1002 5,000
203 =8| 1,000 1,000
03 A=A R=EIH 1,000 1,000
)REH B S AMALEX
250,000 42 1,000
S 82,000 0 82,000
201 &2er=3| 22,000 22,000
03 A= S| 22,000 22,000
Nelg-21 Sgtd E83| S
11,000,000 x23! 22,000
207 AR 50,000 50,000
01 H1ESH| 50,000 50,000
Nalo-21 SE2E EFXIXH Atel S XA
50,000,000 50,000
307 elztol 10,000 10,000
02 SRIZAAR B 10,000 10,000
NAIRT SEEX FHIIAUE HEXD
10,000,000& 10,000
ZHAL 52,679 66,672 13,993
ZAE 44,479 53,272 A8,793
201 LEr2 & 23,075 29,901 6,826
01 Ar2telH| 17,044 23,870 A\6,826
NZA AIREE 7Y 70,0008 123 840
NAMLRET B
8,0002 32913 2,184
NI MEAA2 J|ISTE 29
500,000 22| 1,000
NEZ JA Dt SSAIAE 23]
7.620,000% 7,620
NEBC B4 AN ZX(ZBEE, 1T S)
2,000,000& 2,000
NLAZAL & HAYA HRFA X7 2L
2,000,000& 2,000
NEEBC g SR J2NF BAME
700,000& <22 1,400
02 s3=4Hl 6,031 6,031 0
NEEE ZMAAE 22+
5,171,000 12 5,171
NEEE ZAZE A2
55,0002 * 122 660
NBEECIAAYE SHLSMHIA AISE
200,000& 200
202 O] 8,400 14,000 A\5,600




 RHBIEELIN
g NLHFAS L3t
Ch2lr 2ZAL CEREED
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
01 SLHoAHI 8,400 14,000 N\5,600
NZAHRFE L0
50,0002 38 *562] 8,400
308 AXIEHMSOIE 10,004 9,371 633
11 S 2S0IHeHE & A 2AE A 10,004 9,371 633
&Y AAY 2% X2
10,004,000 10,004
405 AtaHE SH 3,000 3,000
01 MMH=SFSHI 3,000 3,000
1)g - & BBLA zESTY
1,500,000 *2CH 3,000
SAE S 8,200 13,400 25,200
201 LE2 S| 4,200 7,400 A3,200
01 At2teltl 4,200 7,400 23,200
DAHMZAL & AS2ZA 29
320,000 +10= 3,200
DA BN B $48
500,000 22| 1,000
203 R4 1,000 3,000 A2,000
03 A=A H R F2AH| 1,000 3,000 A2,000
DA S AMGREFN 1,000,000& 1,000
301 L2 NS 2,000 2,000
14 IIEet2d=s 2,000 2,000
NEHAD 243 2,000,000& 2,000
303 &= 1,000 1,000
01 Za= 1,000 1,000
NSRRI 410 ZaS 1,000,000& 1,000
g2 2,193,498 2,196,098 22,600
2 56,688 49,788 6,900
201 823 17,688 17,688 0
01 AtR2t2lBl 2,688 2,688 0
NELYRFE A
8,0002 x8& *423] 2,688
2 35234l 15,000 15,000 0
NZEEES ¢SRS
1,2502 %105 *100)H A 123 15,000
202 04l 39,000 32,100 6,900
01 2LHoAHI 39,000 32,100 6,900
&R 2FX U]
50,0002 «8Z*902] 36,000
N8 =T S22 I
50,0002 x1&+603] 3,000
THEE= 2 157,800 154,600 3,200
201 B2 157,800 154,600 3,200




SN JRESA
Hu: XU ATAG
=9 &= (EH9): & R)
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
01 AFR2telH] 157,800 154,600 3,200
NEENZMATY 15,0003 20+ 102 3,000
NSFANATA 205
15,0003 x3)H*x20F+ 12 10,800
NDXLX A2FRsE
20,0002 *500Hx8F * 12 96,000
NELI MERSE
25,0003 14410+ 12 42,000
NEZERE ¥E 2E7Y
1002 +30,000K*22] 6,000
THEESNA 1,412,700 1,593,400 A180,700
201 Er=23E| 1,267,700 1,433,400 /165,700
01 At222lBl 1,267,700 1,433,400 A165,700
Nalgh 2 & 2I1 KAl
10,0002 *1007H* 102 10,000
Naleta YA CIXIZHIo™ 25
22,000,000& x13] 22,000
1)10044 AIQEAAT] JI&(R1T)
22,000,000& x23] 44,000
110044 AIQEAAIX] QI4Y
22,000,000& »23] 44,000
DNYSA HE ZH el 100,000,000 100,000
N2 222 M% ¥ 7Y
1,000, 0002 *200CH 200,000
110044 Aot ZH =QAIR 21
1,000,000 «202] 20,000
110044 &loF OIEY HiLI =21
1,000,000 *10CH =22 20,000
NS ZHER(HI=YS)
22,000,000 *6] 132,000
1)10044 AloH =X d& 21
55,000,000 *13] 55,000
DKTX 10044 4lot 2 JAS oA
22,000,000 *63] 132,000
NOHAHZE ST ZD(KTX,SRT, 22k
70,000,000 70,000
110044 alot S& 2E MK
55,000,000& +2CH 12l 110,000
NSRS 10048 dlgt 22
37,500,000& x32] 112,500
110048 &lot =2 21 g8
10,120,000 102 101,200
110044 &l =X 22 42 WA
5,000,000 105 50,000
110044 &lot 22 ZE &2 WH
45,000,000 45,000
203 R4 20,000 30,000 210,000
03 A=A R=EH| 20,000 30,000 210,000




SN JEERA
HE: XYBY AU
oelr 85 EECREED
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
NESSHE L el 2 AHG2FX
5,000,000 5,000
N2HSLAY AHARET
15,000,000 15,000
301 LEtEN S 5,000 10,000 A5,000
14 IIEt2d =2 5,000 10,000 /5,000
NelotzEs #=X13
100,000 <2 +5I1 A +53 5,000
401 AIZHIX R0 120,000 120,000
04 SHALZHS Al ZH] 120,000 120,000
110044 AloH 2tE =l AN HI
20,000, 000& *63] 120,000
JIEEE2L 80,390 80,390 0
201 23| 80,390 80,390
01 At2teltl 22,840 22,840
Notoet 28X & HMEF 7 X #2/dl
100,000& * 12 1,200
DAMRIQISHR § JISEE &3
700,000& %102 7,000
NEZJIAL 2EHY I & A28 7
300,000& * 122 3,600
NEexy gz 920,000« 1CH* 122 11,040
2 35224l 57,550 57,550 0
NEEXEF | 412,500« 1CH+ 122 4,950
NAGIE & QI AM8E
25,0002 +4CH* 122 1,200
NELAM 7A& A AISE
1,050,000 *4CH* 122 50,400
Na=2dy 2g E8 P8R
1,000,000 *1CH 1,000
NS2 & 375,920 257,920 118,000
201 =3 365,920 257,920 108,000
01 AtR2t2lH] 364,000 256,000 108,000
NHOIAS & Q1A &1
10,000,000 +83l 80,000
NUIOIH & OIS BeicdM 20
70,000,000 70,000
SR U 2B ASZON %E SNTE
= &1 50,000,000& 50,000
1)1004¢ &lok 2etel O10IX M A
40,000,000 22 80,000
Nalekz 34227 29
25,000,000 x13] 25,000
DHOIAS & QIAEDY 24
25,000,000 *13] 25,000
NIt e 29 22,000,000 *12] 22,000
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L HPIEECN
ME: XY
=R R (e )
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
305 Hiel=sS 30,000 30,000
01 ied=S 30,000 30,000
NASAI HiaE & ASHIE
10,000, 0002 x33! 30,000
Hed=2g 376,453 391,247 A14,7A
Olatz 376,453 391,247 A14,794
Oll &t 34,587 21,980 12,607
201 Ler2dh| 11,120 10,480 640
01 At2teltl 5,120 5,480 A360
NS AIRES 7Y
100,000& » 12 1,200
Nolat ARFA DA
8,0002 x5 +083] 3,920
02 s3=48l 6,000 5,000 1,000
DOMEERNYAAR SK 2=t
6,000,000& 6,000
202 OdH| 10,500 10,500
01 201l 10,500 0,500
1014 AR 2UHO1YI
50,0002 x5 423 10,500
207 HAFIHEH| 11,967 11,967
02 MAPHEH 11,967 11,967
DOIAEEAIAE TN eSE HAHZE P
=t 11,966,430 11,967
301 22N 1,000 1,000
14 JIEt2 8= 1,000 1,000
DAYREZ PHLZ ADEN
1,000,000& 1,000
OllatE o 231,866 259,267 A27,401
201 &Er=3| 102,740 99,640 3,100
01 At2telt| 102,740 99,640 3,100
DHIZHE olatA (=04t
85,0002 x2005 17,000
NDHIZAEZE olatA(FE)
30,0003 *200F+33] 18,000
Nalslael & 2ZE ollaH(eh) M
60,0002 x30F*43] 7,200
DUMEEINE 2 JIS2EHE
25,0002 %2005 5,000
NSIXLSHE H&M KR =
20,0003 » 1005 2,000
DEAXI AN HI= 40,0002 1005 4,000
NEUASM M 40,0002 #1702 %23 13,600
NEXAAL 0= M= 7,000 220 1,540
1)=&l A9X= M= 40,0002 x125% 5,000




SN JlEEDA
X MWE=2Z
SE RIS (B e
S - BB CRI(S) - NIRAY - BaS 01l bt e HIm =2t
NolatES A ARE 2
1,000,000& 1,000
D= AMRARS MA=E
100,000& * 12 %13] 1,200
NENHMAIRIAS] ALY
100,000 12 *53] 6,000
DEQLANYHNEAIY MALE
100,000& * 12 *23] 2,400
DRLTHEHE MRS &AL
100,000& * 12 *13] 1,200
NALEEZ 223 AAMY
100,000 * 13 83| 10,400
DXYENESAl AS2AS| MAE
100,000& 12 *23] 2,400
DSEMEHES JI2 28 Aol g &
A==E 100,000 12 *23] 2,400
NEXNESAHAI | ZH2Y ARG MAsY
100,000 * 12 23] 2,400
203 R F&H| 14,000 19,000 25,000
03 AIBFRHS SR 14,000 19,000 A5,000
)0l 23 SOt FX 9,000,000& 9,000
N=EH MIAEE & THEAIZ K&
5,000,000& 5,000
308 KtXISHAMISOIA 57,824 29,012 28,812
11 B 2SS0 UEHE A X REAIS I 57,824 29,012 28,812
INENEPESTES RS
17,069,000 17,069
DXAIC XYHEAAE ST 24
40,755,000 40,755
403 XHXICHHISAHE01 & 57,302 111,615 254,313
02 BI|2SOICHEHAH2 & 2 & AF I 57,302 111,615 A54,313
DXAICH XISHEZEIAAY 25
57,302,000 57,302
lHBE23 110,000 110,000
201 LBr249Y| 80,000 80,000
01 At 22l 50,000 50,000
NIIABES2F AIR22l]
50,000,000 50,000
02 324l 30,000 30,000 0
NIIZASS2E 32|
30,000,000& 30,000
202 44| 20,000 20,000
01 =UHOdHI 20,000 20,000
NIABS2E =L 20,000,000& 20,000
301 LEtEXZ 10,000 10,000
11 HAABIXES 10,000 10,000




2A JEER
M HE=2Y
=9

CHRl: Ol

S - BB ORI(S) - NISAY - BaS 01l bt e HIm =2t
IIBDERY BAUINAS
10,000,000 10,000
HY2AZHI(DIEE24) 26,800 27,400 AB00
JlE2al 26,800 27,400 2600
JI2dHI(O18EE4) 26,800 27,400 A600
201 LBr2AH| 5,200 5,200 0
01 AtR2teld] 5,200 5,200 0
NEMEY AIR22l] 200,000 26 5,200
202 Ot 10,800 10,800
01 =W GdbI 10,800 10,800
NENSY REX 20N
50,0003 *23H +83] 9,200
NBSR ALEX 2UY0iY)
50,0003 *4 X *83| 1,600
203 LR F&Y| 10,800 11,400 AB00
01 J|22H S FAH| 6,600 6,600 0
NIA2IERFXY| 550,000& *12& 6,600
M NI RFAY] 4,200 4,800 2600
1)25210| 5t 350,000& *12& 4,200
NRES 10,262,402 10,180,000 82,402
BHEXE 10,262,402 10, 180,000 82,402
SNXE 10,262,402 10,180,000 82,402
802 Brat320|Et 10,262,402 10,180,000 82,402
01 = NEXZLHEZ 6,680,000 6,680,000 0
NINSET AT st
6,680,000,000& 6,680,000
02 Al - CHIEZ 3= 3,582,402 3,500,000 82,402
EHSES ZaToL Pral
3,582,402,000& 3,582,402
i:|1s]}s]l 21,709,803 20,029,9% 1,679,807
= 587,500
| 2,580,000
= 970,000
CH 1,000,000
o 16,572,303
(&:{{=]}a]] 21,709,803 20,029,9% 1,679,807
= 587,500
| 2,580,000
T 970,000
CH 1,000,000
= 16,572,303
:{1=1s] 21,709,803 20,029,9% 1,679,807
= 587,500
| 2,580,000




2N

= o]
e B =] ka] CEREED
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
= 970,000
CH 1,000,000
= 16,572,303
801 OflHIH] 21,709,803 20,029,996 1,679,807
= 587,500
Il 2,580,000
= 970,000
CH 1,000,000
o 16,572,303
01 Letoidigl 6,000,000 6,000,000 0
1)2BESI A 1% OILK 6,000,000,000& 6,000,000
02 XHoH - AHH=Z0d]d] 4,204,900 8,000,000 23,795,100
1SH0HIY 4,204,900,000& 4,204,900
B UF=RE=S 11,504,903 6,029,9% 5,474,907
Dol stA ol A2 (2 0l14F)
11,504,903,000& 11,504,903
= 587,500
Jl 2,580,000
&< 970,000
CH 1,000,000
o 6,367,403




